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 s!f (1 – cosθ)(1 + cosθ) = PPPPPPPPPP 

(a) cosec2θ (b) cos2θ  (c) sin2θ  (d) 2 – cos2θ 

sZf tan7θ tan3θ = 1 TM θ = PPPPPPPPPP 

  (a) 0  (b) 9  (c) 10  (d) 18 

s#f HM cotθ = 
4

3
 , TM 

cos θ−sin θ

cos θ+sin θ
 = PPPPPPPPPPP  

  (a) 1/7  (b) 4/3  (c) -4/3  (d) 7 

s$f △ABC DF\ ∠B SF8B]6M K[P VG[  cos B = 
1

2
 TM cosec A = ........... 

(a) 1/2  (b) √3  (c) 2/√3  (d) 2 

s5f HM ,W]SM6 θ DF8[ cos θ = sin θ TM 2 tan2θ + sin2θ + 1 = PPPPPPPPPP 

  (a) 5/2  (b) 7/4  (c) 5/4  (d) 7/2 

s&f 
cos (90−A) sin (90−A)

tan (90−A)
 = PPPPPPPPPPPP 

  (a) sin2A  (b) cos2A  (c) sin A  (d) 1 
s*f SM.S θ sHIF\ 0 < θ < 90f DF8[ GLR[GF 5{SL PPPPPPPPPP ;tI K[P 

(a) cosθ > 1 (b) cosecθ < 1 (c) tanθ < 0 (d) secθ > 1 

s(f sin21 + sin23 + sin287 + sin289 = PPPPPPPPPPPP 

  (a) 0  (b) 1  (c) 2  (d) 4 

s)f cosecθ = 
2

 3
 TM θ = PPPPPPPPPPPP 

  (a) 30  (b) 60  (c) 90  (d) 45 
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s!f HM sec4A = cosec(A–20), HIF\ 4A V[ ,W]SM6G]\ DF5 CMI TM AGL lS\DT XMWMP  

  sZf 
sin 18

cos 72
 +  3(tan10 tan30 tan45 tan50 tan80) GL lS\DT XMWMP 

s#f HM 0<θ<90 VG[ secθ = cosec60 TM 2cos2θ-1 GL lS\DT XMWMP 

s$f lS\DT XMWMP 3cos230 + sec230 + 2cos0 + 3sin90 – tan260 

s5f 
1

1+sin θ
 + 

1

1−sin θ
 = 2sec2θ ;FlAT SZMP 

s&f  
1−sin θ

1+sin θ
 = secθ – tanθ ;FlAT SZMP 

s*f ;FlAT SZM S[ (sinθ + cosecθ)2 + (cosθ + secθ)2 = 7+tan2θ+cot2θ 

s(f ;FlAT SZM S[ 
sin 2θ

1+cos θ
 + 

sin 2θ

1−cos θ
 = 2 

 

BEST OF LUCK 

 

 


